Quaker Academic Competition I

November 22, 2008

Round 1
Tossups

1. This figure once became king of a city of men who become birds once a month. In another episode, he escapes cannibals by refusing to eat their madness-inducing root, only to go to another land where he has to invent the stirrup and bridle for horses. On his first trip he ran aground on what he thought was an island but which turns out to be a whale with trees growing on its back, and after one shipwreck he finds the egg of the giant bird called the Roc. Also the slayer of the Old Man of the Sea, for 10 points name this figure from Arabic folklore whose seven voyages figure prominently in the 1,001 Nights.


ANSWER: Sinbad the Sailor

2. The lack of fragile X mental retardation protein alters the relay of messages in this molecule's namesake pathway. Prolactin counteracts the effect of this molecule, which can be responsible for sexual arousal and pleasure, and one hypothesis regarding schizophrenia states that psychotic episodes are triggered specifically by the activation of its receptors. For 10 points, name this hormone, a reduction of which can cause Parkinson's disease.


ANSWER: dopamine
3. This artist painted The Suicide of Dorothy Hale while staying in New York and was inspired by votive portraits known as retabolos. Henry Ford Hospital and What the Water Gave Me act as this artist’s autobiography, notably expressing angst over her numerous miscarriages. The Broken Column shows her split open to see the result of a bus accident which left her with permanent spine damage, and one of her many self-portraits is in the form of a doppelganger connected by a single blood vessel.  For 10 points, identify this unibrowed Mexican painter, the two-time wife of Diego Rivera.


ANSWER: Frieda Kahlo
4. These actions can only take place when a Unanimous Consent Agreement is not in place.  One notable example was executed by someone dubbed “Kingfish” and included recipes for “pot-likkers”, while Thomas Hart Benton and John Calhoun used this to prevent Henry Clay from passing a bank bill.  The longest individual one, which exceeded 24 hours, was executed by segregationist Strom Thurmond against the Civil Rights Act of 1957.  Thwartable by a supermajority of sixty votes for cloture, this is for 10 points what practice of delaying a vote on a bill by not relinquishing the floor in a Senate debate?


ANSWER: filibuster
5. The Hindu deity Murugan rides one of these creatures, and Krishna is often depicted wearing a crown including this creature’s feathers. One story explaining their origin involves the giant son of Arestor, who was given the task of guarding a particular heifer. Hermes was sent to kill that hundred-eyed giant, Argos, because he was guarding Io, and after Hermes beheaded Argos, his master placed his hundred eyes onto this bird. For 10 points name this fowl associated with Hera and known for its ostentatious tail plumage.


ANSWER: peacock (really shouldn’t accept peafowl—nobody cares about the females)

6. It seeked the removal of fish-weirs from major waterways, and the first section deals with a dispute over the independence of Steven Langston. Its clause 12 states that a levy to raise ransom money for the king known as “scutage”, to knight his eldest son or marry off his eldest daughter, cannot be imposed without the “common counsel of the realm.” Its clause 61 states that the Great Council can foreswear allegiance to the monarch in some cases, leading its signatory to renounce it, an act culminating in the Baron’s War. Also codifying the already-extant expectations of habeas corpus and signed at Runnymede, this is, for 10 points, what document limiting the tyranny of the English monarch, signed by King John in 1215?


ANSWER: Magna Carta
7. This value appears in the numerator in Black's equation, which is used to calculate it for self-diffusion in pure metals. It is usually determined experimentally by taking the slope of the line that appears on the graph plotting the log of k against one over temperature. A negative value of this quantity appears in the exponential divided by RT in the Arrhenius equation. For 10 points, name this value that is lowered by catalysts, and is equal to the minimum energy that molecules must have in order to react.


ANSWER: activation energy [or free energy of activation]
8. One of this man’s works has a section titled after the “Berecynthian goddess” and has the subtitle “By Bellay”. In addition to “Ruins of Rome”, he wrote of his courting and marriage of Elizabeth Boyle in Amoretti, which includes his famous wedding song “Epithalamion.” The character of Colin Clout appeared in his “Shepherd’s Calendar”, in addition to an epic describing the interactions of Duessa, Archimago, Britomart, and the Redcrosse Knight. For 10 points, name this author of a work allegorizing Elizabeth I as Glorianna, The Faerie Queene.


ANSWER: Edmund Spenser
9. The second ruler of this empire extended its boundaries to Mysore and once asked Antiochus for some dried figs, wine, and a Sophist. Its final ruler led this empire’s final southward expansion, conquering Kalinga, while the first leader drove back the invading forces of Seleucus and crossed the Indus River to capture Macedonian territory near Persia. For 10 points, name this Indian empire featuring the reigns of Chandragupta I and Ashoka.

ANSWER: Mauryan Empire

10. This book calls for a woman to bring two doves or two pigeons to her priest on the eighth day after the beginning of her menstrual cycle, one of which is burned as a sin offering and the other as a burnt offering. It also relates the tale of Nadab and Abihu, sons of Aaron, who presented a “strange fire” in the tabernacle and were burned by God and buried outside the camp. In recent years, its most discussed prohibition has been in Chapter 18, Verse 22, which suggests that one should not “lie with mankind as with womankind,” read by evangelicals as a prohibition against homosexuality. With a name meaning “And he called,” for 10 points what is this third book of the Pentateuch?


ANSWER: Leviticus (accept Vayikra)

11. The deepest parts of this region display dramatically reduced viscosity; some have argued to call this region the Bullen layer, rather than the existing name of D’’ (D double-prime).  It is constantly in the process of shedding potassium, and is rich in olivines. This region’s namesake plumes are thought to be the cause of flood basalts as well as hotspots, while the upper portion of this region, which exhibits isostasy is named the aesthenosphere and has the Moho discontinuity as its outer edge.  For 10 points, this is what region of the Earth, which resides between the crust and the outer core?


ANSWER: mantle
12. His creation is attributed to either Bill Finger or Jerry Robinson, with the distinctive look based partly on the look of actor Conrad Veidt in one film. This man, perhaps originally Red Hood, is credited with killing Sarah Gordon and Jason Todd as well as permanently injuring Oracle, while another story sees his psychiatrist Harleen Quinzl falling in love with him and attempting to feed his arch-nemesis to piranhas. In television and movies, he’s been played by Cesar Romero and Jack Nicholson. For 10 points name this fictional villain more recently played by Heath Ledger, a nemesis of the Batman.


ANSWER: The Joker
13. Okun’s Law states that a one percent increase in the difference between the actual and natural types of this concept will cause a 2 – 3% drop in GDP. The Keynesian, or cyclical, variety occurs when the economy does not exhibit sufficient aggregate demand for goods and services, while the frictional type describes people currently in this state who lack complete information about the labor market, such as recent graduates. Contrasted with inflation by the Phillips Curve and combined with it in the “misery index”, this is, for 10 points, what condition, exhibited by people on strike and victims of layoffs?


ANSWER: unemployment
14. Inspirations for the program of this work, whose most familiar version was produced by Marius Petipa and Lev Ivanov after the composer’s death, included Pushkin’s Tzar Saltan and the composer’s opera Undine, whose music was recycled for its famous love duet.  The central female is kidnapped by the evil sorcerer Rothbart, who tricks the prince into pledging his fidelity to Odile, and her parents’ tears form the titular location.  In most versions, Odette then dies or is condemned to remain away from Siegfried in the form of the titular bird. For 10 points, name this ballet, the first by Tchaikovsky.


ANSWER: Swan Lake or Lebedinoje osero

15. The title character of this poem may have been modeled after the author’s brother Hennan, though that man was a heavy drinker, unlike the subject of this poem. The pronoun “we” likely refers to the residents of Tillbury Town, who are “on the pavement” and later “[wait] for the light”. Though the speakers must go “without the meat”, they seem impressed that the title character is “human when he talk[s]”. That character is described as a “gentleman from sole to crown” who “glittered when he walked” until the final stanza which turns bleak. For 10 points, name this poem whose title figure “[puts] a bullet through his head,” a work of Edwin Arlington Robinson?


ANSWER: “Richard Cory”

16. The minimal criterion for it to be productive is given by the product of ion density and confinement time, and is known as Lawson's criterion. In 1989, B. Stanley Pons and Martin Fleischmann allegedly performed one type of this process at room temperature; however, attempts to replicate that work have failed. Examples of the exothermic variety of this process include the CNO cycle and the proton-proton chain reaction, the latter of which occurs in the sun. For 10 points, name this thermonuclear reaction in which nuclei of light atoms come together to form nuclei of heavier atoms.


ANSWER: (cold or nuclear) fusion [do NOT accept "fission"]
17. One of its victories was at Iconium against the Seljuk Turks. After one of its major leaders drowned, his remaining forces were led by Leopold V of Austria and Frederick of Swabia. Its other two major leaders met at Vezelay and traveled eastward by sea, one stopping off to rescue his fiancée Berengeria of Navarre and conquer Cyprus. The other king took Acre and went home, while the other stuck around to take Jaffa in 1192 but then arranged a peace with Saladin, leaving Jerusalem in Muslim control. For 10 points, this describes what crusade involving Frederick Barbarossa, Philip II, and Richard the Lion-Hearted?


ANSWER: Third Crusade

18. Though Pythagoras may have coined the word “kosmos”, this man was the first to use it in any extant text, and he claimed the universe had a fundamental unity he termed “logos.” He expressed the intrinsic similarity in being asleep and awake in his “unity of opposites” theory. Only one of this philosopher’s works, “On Nature”, survives, in which he argued that all existence was in flux, being constantly formed from or destroyed by fire, which he posited was the fundamental substance. For 10 points, name this ancient philosopher, known for positing that one cannot step into the same river twice.


ANSWER: Heraclitus
19. Landmarks in this state include Pinnacles National Monument and the Lanphere Dunes. The northwest portion of this state is home to Humboldt Bay, and its southwestern portion is home to Point Arguello, which is used to launch missiles. One body of water in this state is located in the Imperial Valley, and is known as the Salton Sea. In the contiguous U.S., it is home to the highest mountain peak, and other features of this state include the La Brea Tar Pits and Yosemite National Park. For 10 points, name this state home to Mount Whitney, Alcatraz Island, and the city of Sacramento.


ANSWER: California
20. The title character of this author’s 1843 novella Georges is, like its creator, of mixed race. His son, also a writer, is best known for the novel The Lady of the Camelias, which was adopted for Verdi’s La Traviata. One of his novels traces the revenge of the title character after being framed by Fernand Mondego before he is able to wed his beloved Mercedes, while another was followed with the sequel Twenty Years After, which is featured in the D’Artagnan Romances. For 10 points, name this creator of Edmond Dantes and a titular swashbuckling trio, the French author of The Count of Monte Cristo and The Three Musketeers.


ANSWER: Alexander Dumas
TIEBREAKER. First published in the National Era, it was described as a "very bad novel" in the James Baldwin essay “Everybody’s Protest Novel." This work includes the character Tom Loker, who gets shot, but is healed by some Quakers. This work also includes two characters, Cassy and Emmeline, who hide in an attic that others believe is haunted by ghosts. Near the end of this work, George and Eliza plan to immigrate to Liberia, and the title character dies after being beaten by Sambo and Quimbo on the orders of Simon Legree. For 10 points, name this anti-slavery novel by Harriet Beecher Stowe.


ANSWER: Uncle Tom’s Cabin
Round 1 Bonuses
1. Stuff about the last Russian Tsar for 10 points each.

[10] First, who was that last Romanov ruler, killed with his family by firing squad in 1917?


ANSWER: Nicholas II
[10] Nicholas II tried to appease a restless Russia in 1906 by acceding to the creation of this legislative body.


ANSWER: Duma
[10] On January 22, 1905, peaceful demonstrators led by Father Gapon were fired upon by soldiers leading to hundreds of deaths, giving that date this nickname, echoed by a 1972 event in Ireland.


ANSWER: Bloody Sunday
2. Identify these impressionists for 10 points each.
[10] He inadvertently named the movement with his canvas Impression: Sunrise.  His series of paintings of haystacks and water lilies are great crowd pleasers.

ANSWER: Claude Monet
[10] His Bar at the Folies-Bergère is the world's most famous painting depicting a bottle of Bass beer.  He also painted the provocative works Luncheon on the Grass and Olympia.

ANSWER: Édouard Manet
[10] This man depicted the social isolation of Paris in his portrait of Marcellin Desboutin and Ellen Andrée dejectedly sitting with the titular beverage, L’Absinthe. 

ANSWER: Edgar Degas

3. This compound is found in the cell walls of most fungi. For 10 points each: 

[10] Name this carbohydrate that is also the main constituent of arthropod exoskeletons.


ANSWER: chitin
[10] This other carbohydrate composes the theca of dinoflagellates. Like chitin, it is composed of glucose-derived units and is the chief constituent of plant cell walls.


ANSWER: cellulose
[10] This textile filament was once known as artificial silk. It can be made from cellulose with the addition of carbon dioxide and caustic soda, which is then forced through a spinneret.


ANSWER: rayon
4. Stuff about a mountain range for 10 points each:

[10] It’s the world’s longest continuous chain of mountains, comprising the Cordillera Oriental and the Cordillera Occidental.


ANSWER: Andes
[10] This inactive volcano in Ecuador is considered the furthest point from the center of the Earth due to the equatorial bulge.


ANSWER: Mt. Chimborazo
[10] Located near the border of Chile and Argentina, this Andean peak is the highest outside of Asia.


ANSWER: Mt. Aconcagua
5. He wrote The School for Wives and The Bourgeois Genteleman. For 10 points each:

[10] Name this 17th-century French playwright who died while performing in his The Imaginary Invalid.


ANSWER: Moliere (accept Jean-Baptiste Poquelin)

[10] The Moliere play is about the title hypocrite’s attempts to take the wife and house of Orgon.


ANSWER: Tartuffe
[10] This Moliere play follows the attempts of the titular spendthrift Harpagon to thwart the romantic desires of his children Elise and Cléante.


ANSWER: The Miser (or L’Avare)

6. Name these Supreme Court Chief Justices for 10 points each.

[10] This guy was the first Chief Justice, serving from 1789 to 1795. He also authored with Hamilton and Madison a set of documents detailing the groundwork for such processes as judicial review.


ANSWER: John Jay
[10] Chief from 1969 to 1986, he saw through such decisions as Roe v. Wade and Gregg v. Georgia, which confirmed the Court’s support of the death penalty.


ANSWER: Warren Burger [do not accept or prompt on just “Warren”]

[10] This man dissented in the 2006 case, Gonzales v. Oregon, ruling that the Attorney General could not use the Controlled Substances Act to prevent doctors from aiding the terminally ill in suicide using drugs.


ANSWER: John Roberts
7. For 10 points each, name these characters from The Legend of Zelda series.

[10] The green tunic wearing character controlled by the player in every game, he can usually be renamed by the player, but this is his official name.

ANSWER: Link
[10] The main enemy in most of the games, he was originally the leader of the Gerudo, and usually possesses the Triforce of Power.

ANSWER: Ganondorf (accept Ganon)

[10] Usually the leader of the Goron race, he is notable for his large size and the sword he often gives to Link.

ANSWER: Biggoron
8. She wrote the novel The Song of the Lark and the short story “Paul’s Case.” For 10 points each:

[10] Who is this author of My Antonia and O Pioneers!?


ANSWER: Willa Cather
[10] This protagonist of O Pioneers! eventually marries childhood friend Carl Linstrum.


ANSWER: Alexandra Bergson
[10] Cather also wrote this novel chronicling Jean Marie Latour’s efforts to establish a Catholic church in New Mexico.


ANSWER: Death Comes for the Archbishop
9. Name these laws from chemistry involving gases, for 10 points each.

[10] Developed in 1662 by the author of The Sceptical Chymist, this law states the inverse relationship between pressure and volume of a gas.


ANSWER: Boyle's law

[10] Rationalizing the “bends” experienced by deep sea divers, this states that the solubility of a gas in a liquid is proportional to its partial pressure above the liquid.


ANSWER: Henry's law

[10] This law states that in a mixture of unreacting gases, the total pressure is the sum of the partial pressures of the individual gases.


ANSWER: Dalton's law (of partial pressures)
10. Answer the following about a certain fruit in mythology For 10 points each.

[10] What type of fruit, inscribed “for the fairest,” was thrown by Eris into the gathering at the wedding of Peleus and Thetis, leading to that nasty Trojan War?


ANSWER: apple
[10] These nymphs, aided by the dragon Ladon, guarded the golden apples of Hera.


ANSWER: Hesperides
[10] Hippomenes won the hand of this huntress in a footrace when he threw some golden apples given him by Aphrodite in her path.


ANSWER: Atalanta
11. In this country, economists estimate inflation to be 20 trillion percent. For 10 points each:

[10] Name this African country that was home to a presidential election in March of 2008 wrought with corruption that featured candidates of the ZANU-PF and Movement for Democratic Change parties.


ANSWER: Zimbabwe
[10] This man founded the ZANU party and is the current president of Zimbabwe.


ANSWER: Robert Mugabe
[10] In a power-sharing agreement reached in September, this man, the leader of the MDC party and its candidate in the 2008 elections, became Prime Minister of Zimbabwe.


ANSWER: Morgan Tsvangirai [CHAHN-gih-REYE; be somewhat lenient on pronunciation]
12. Identify the following works by Ludwig von Beethoven, for 10 points each.

[10] Friedrich Schiller's poem “Ode to Joy” is featured in the fourth movement of this final symphony written by Beethoven.


ANSWER: Symphony No. 9 [or Choral Symphony; or Opus 125]

[10] Dedicated to Giulietta Guicciardi and marked quasi un fantasia, this piano sonata includes a lyrical first movement that requires much use of the pedal and a third movement marked with the tempo presto agitato.


ANSWER: Moonlight Sonata [or Piano Sonata No. 14; or Opus 27 No. 2]

[10] The last movement of the Eroica Symphony was based on this Beethoven ballet that centers on an offspring of a Titan.

  
ANSWER: The Creatures of Prometheus
13. After writing Religion within the Limits of Reason Alone, he was ordered by the government to desist from further publication on religion. For 10 points each:

[10] Name this late 18th century German philosopher, who was awakened from his dogmatic slumber by reading the works of David Hume.


ANSWER: Immanuel Kant
[10] Immanuel Kant developed this two-word rule regarding ethics that states one should base actions on whether those actions would be right for everyone in every situation.


ANSWER: categorical imperative
[10] This 1781 work by Kant contains a section entitled "Transcendental Aesthetic," and aims to establish the possibility of metaphysics as a science.


ANSWER: Critique of Pure Reason [or Kritik der reinen Vernunft]

14. She wrote novels like Daniel Deronda and Romola, but we’re not going to ask about those. For 10 points each:

[10] What is the pen name under which Mary Ann Evans wrote those novels, as well as Mill on the Floss and Adam Bede?


ANSWER: George Eliot
[10] This George Eliot novel tells of the orphan girl Eppie who teaches the title “Weaver of Raveloe” that love is more valuable than gold.


ANSWER: Silas Marner
[10] Usually considered Eliot’s masterpiece, in this novel, Dorothea Brooke marries the scholar Casaubon who dies, after which she denies Casaubon’s will to marry Will Ladislaw.


ANSWER: Middlemarch

15. Identify these terms from physics, for 10 points each.

[10] Measured in Newton-meters, this quantity is the rotational analog of force.


ANSWER: torque
[10] According to a namesake theorem, the net amount of this quantity performed on an object is equal to its change in kinetic energy. Like energy, it is measured in Joules. 


ANSWER: work
[10] Torque is useful for evaluating this quantity for a lever, given by the ratio of the lengths of the effort and resistance arms. In general, it gives the ratio of the output force to the input force for a system.


ANSWER: ideal or actual mechanical advantage
16. He turned down the 1964 Nobel in literature. For 10 points each:

[10] Who was this French thinker, author of novels like Nausea and philosophical works like Existentialism is a Humanism?


ANSWER: Jean Paul Sartre
[10] In this Jean Paul Sartre work, which lays the foundations for existentialism, Sartre contrasts the titular concepts as the freely expressive and physically constrained versions of consciousness.


ANSWER: Being and Nothingness
[10] Sartre’s longtime companion was this author of The Mandarins and the early feminist tract The Second Sex.


ANSWER: Simone de Beauvoir

17. Was he more than friends with William Rufus King? Inquiring minds want to know! For 10 points each:

[10] Who was this winner of the election of 1856?


ANSWER: James Buchanan
[10] In that election, Buchanan defeated this guy, who earned the nickname “Pathfinder” for leading several expedition along the Oregon Trail and throughout California.


ANSWER: John C. Fremont
[10] Buchanan’s inaugural speech implied he was pleased that the Supreme Court would decide the slavery question in this noted 1857 case, which unsurprisingly didn’t really settle anything.


ANSWER: Dred Scott v. Sanford

18. Name these interesting curves from math for 10 points each.

[10] Archimedes lends his name to one of these given by r equals b times theta in polar coordinates. The b term controls the distance between successive turns.


ANSWER: spiral
[10] This is the curve can be conceptualized as the position of a point on the edge of a circle rolling along a straight line.


ANSWER: cycloid
[10] These types of curves, represented by hyperbolic trig functions, describe a hanging chain fixed at two ends under the influence of a uniform gravitational force.


ANSWER: catenary
19. For 10 points each, answer some questions about a concept from psychology.
[10] Grounded in physiology and safety is this pyramidal diagram proposed by a humanist, whose pinnacle is self-actualization. It may or may not resemble a quizbowl question, depending on the format.  

ANSWER: Hierarchy of Needs
[10] This author of Towards a Psychology of Being and Motivation and Personality created the Hierarchy of Needs.

ANSWER: Abraham Maslow
[10] Just below self-actualization on Maslow's traditional hierarchy is this concept. This layer includes the need for confidence, self-respect, and respect of others.

ANSWER: esteem

20. Show off your knowledge of Ethiopian history For 10 points each.

[10] Named for a legendary early Ethiopian king, this emperor successfully kept Ethiopia independent during the European Scramble for Africa in the late 19th Century, routing the Italians in the first Italian-Ethiopian War.


ANSWER: Menelik II
[10] The Italians were humiliated at this 1896 battle, ensuring Ethiopia’s sovereignty as a nation.


ANSWER: Battle of Adowa
[10] This later emperor could not hold back the Italians when they came back in the 1930’s because this time they brought airplanes and chemical weapons. 


ANSWER: Haile Salassie I or Tafari Makonen

